K 8 Wérksheets

Ratio WS #1

Fill the blanks.

There are 7 roses and 8 sunflowers in the garden.

The ratio of roses to sunflowers is

The ratio of sunflowers to total flowers in the garden is

The ratio of roses to total flowers in the garden is

There are 19 girls and 14 boys on the school bus.

The ratio of girls to boys is

The ratio of girls to the total number of students on the bus is

The ratio of boys to total number of members in the bus is

There are 12 comic books and 5 novels on the bookshelf.

The ratio of novels to comic books is

The ratio of novels to total number of books on the shelf is

The ratio of comic books to total books in the shelf is
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